£160QIHCH TOvIMEHIEDLE HBR

ATJDOvD WEFC FCisis BERGIESC B s | o |Bal 8 | x |8x|iEh
1 30 3 1 g 2 )
MEFC 1 0%k o 3 1 0k o ol2]lol|lo]| 2]|-+s5 3| 3
3 FE 1 O i 1
FCigis 0 8% 0 1 1 e 1 1 1 ol 3| 4| 3| 1 2
\ 2 B 1 1 55 0
BEGIESC 0 ek 0 2 1 ek 1 1 2l o|lol|le6|lal|l2]|2]|:1
BJOwD )IIF C WEIT-wIR FC LEEZU Bl & | D | BR| 8 | & |B%x|IEM
O &I O O IEXO )
t)IIF C 1 1 ek 7 1 O Bk 1 o | 1 1 1 1 2 1| 3
_. O i 0 4 Fi¥ 0
WEIT=w DR 7 ek 1 7 R R 1 o | 1 4 | 8| 1 7 | 1
O Fi¥ O O Fi 4 ]
FC LEEZU O ek 7 @) O %k 3 7 1 1 ol 3| 1 7 6| 2
cJowv”o HENDSC EHSC ENEVw. Bl s | o [Be| 8| & |8x|iEm
3 FE 1 CE-IEX6)
HEDSC 3 O %E O 1 3 0 B O 2l ol o| 6| 6|1 5 | 1
- 1 80 3 OFiES5 )
FHSC 078% O 1 10 ol2lo|lof|2]s 6| 3
< O Fi¥ 3 5 #0# 0
ENEdV W O %% O 5 O Bk ] 1 1 1 ol 3| 5| 4| 1 2
DJOwvY ®IISC ®WEFC GROW FC Bl & | D | BR| 8 | & |B%x|IEM
O Fi 2 OFiES5 )
®IISC @) O ik 4 6 O %k 4 ol 2]lo]o| ol1s]|-15| 3
28-1E X0 O Fi¥ 1
®EFC T O O &k 1 1 1 ol 3|6l 24|02
5800 SI-IE X0
GROW FC 2 %% O 2 1 O @) 2l o|lof|le6 |11 o0 11| 1
B & 78198 TJaOwvo -—T%
=18 DEHYH—1B AT (FR) WDEYYH—1E BE (LH)
5 R 25 = ¥ & = ¥
(1) \ \
WEFC - 3 FCisis 2AX 4 th)I|FC — 1 @HEITZvVHR SMX
09:00
(2) 1 » 4 @
HENDSC - 1 THSC 10 w®IISC — 6 @EFC
09:55 2F— I\ 2F—1
(3) 7T M 10 @
FCiiies - 2 HEGEESC 6 WE I T w2 — O FC LEEZzU
10:50 2F— I\ 2F—I
(4) ‘ 3 ™ 6 O
THSC - 5 =HIEAVw; 12 BEF C - 2 GROW FC
11:45 2F— I\ 2F—1
(5) 9 o 12 @
WEFC - 2 HEGESC 5 th)I|F C — 1 FC LEEZU
12:40 2F— I\ 2F—1
6) ‘ 2 O 5 O
HENSC -0 ENIEAVwN; 11 WIS C - 9 GROW FC
13:35 2F— I\ 2F—1




B = 7198 JOwvoOU-—T%
= 5 VWEYvAH—1HE A (FR) WEFESwvAH—1H BE (ER)
b5 3 5 =] E ¥ i =] E ¥
(1)
1 BMFFC 1 — 3 FCis FHX 4 DJIIFC 1 — 1 WEIJTZwv IR FHX
09.00
(2) 1 D 4 D
7 HENDSC 3 — 1 EHSC 10 @IS C O — 6 REFC
0955 2F—A 2F—A
3) 7 O 10 @
3 F CigER 1 — 2 HEGIEES C 6 WEIT v DIR 7 — O FC LEEZU
1050 2F—A 2F—A
(4) \ 3 O 6 M
9 EHSC 1 — 5 QaurLIV 12 BEFC o — 2 GROW FC
11:45 2F—A 2F—A
5 9 O™ 12 D
2 BEFFC 1 — 2 HETCESC 5 DJIIFC o — 1 FC LEEZU
12:40 2F—A 2F—A
6) \ 2 D 5 M
8 HENDSC 3 — O QurLIY 11 Bw)ISC O — 9 GROW FC
13:35 2F—A 2F—A
B & 7H208 IBiIr—7XY &
= 15 YaFYvyh—i5 ABE (FR) Yavh—i5 BE (LR
b5 &3 il =] E ¥ il =] Z ¥
(1) " ST =XV FClaizs . SIb—FT XY+ FC LEEZU
\ \}
09.00 BEFC — IS C LIy dJIIFC — EHSC BEFC
2) _ 2 =XV~ WEFC _ 2 =XV~ DJIIFC
D
0955 F CE — SIS #®ISC FC LEEZU — BEFC EHSC
3) - T =X+ FCHiss T =X+ FC LEEZU
A
10:50 HECEESC — WMEIJT VIR EIEAVM] HENDSC — GROW FC BEFC
4) SIh—F AV 3R BECIESC ST b= XAV~ RES HENDSC
_ [ . L
11:45 — 2r=y02 — crowre
5) < 2 =XV 3R 7 o N 2N =XV~ RS L @
12:40 — 2F—I — 2F—I
) 1= XV~ 3R TRI— XY~ RS
= FHX Z FHKX
13:35 — —




£1 60IHIH

ATJOwvD

AELESC

IREL ~—F X 8

1RIF—LR—F XYk

BJOwv2 11

WEIJI=-—wv O

DJOwvD11iI

)

)

2UF—Lb—=F AU

CTJDv D211

RWUrLITY

BJ0Ov D20
FC LEEZU

DJ0OwvD 211

BEFC

ADJOwv D3

BEFC

SUF—Lb=F AUk

DJ0OwvD 311

®IISC

B7Ow D 3({u

PIIFC

CJDvD 311

¥HSC

73\




